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Xl 2,255,645 2,255,645 0
Al 3,267,853 3,194,380 73,473
2 1,603,305 1,552,263 51,042
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0| ZME 23R 23,620,439 22,706,548 913,891
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Al 1,714,158 1,642,035 72,123
32 803,597 753,905 49,692
MA S0 (LB 20, 149,279 19,289,245 860,034
=2 18,134,352 17,360,320 774,032
Al 1,410,449 1,350,247 60,202
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Al 1,410,449 1,350,247 60,202
32 604,478 578,678 25,800
MASO (AELE2 ) 1,635,288 1,760,494 A125,206
=2 1,471,759 1,584,445 A 112,686
Al 163,529 176,049 A12,520
301 Yt A2 1,635,288 1,760,494 A125,206
2 1,471,759 1,584,445 A112,686
Al 163,529 176,049 A12,520
01 AHBIE & E 5 2 1,635,288 1,760,494 A 125,206
OMHBO(ANELESA) 1,635,288,0002 1,635,288 1,760,494 A 125,206
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Al 163,529 176,049 A12,520
22X 1,028,618 765,000 263,618
= 822,894 612,000 210,894
Al 102,862 76,500 26,362
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= 822,894 612,000 210,894
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ORIZENX ALY 1,028,618,0002 1,028,618 765,000 263,618




2N =
oy =
o
=

el

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
= 822,894 612,000 210,894
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= 116,168 103,802 12,366
Al 9,035 8,074 961
- 3,872 3,460 412
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= 467,241 536,720 A69,479
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T 38,246 36,896 1,350
Y= X2 3,357,696 3,330,696 27,000
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- 3,150 1,800 1,350
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